KK

3.14 3.13 Tk 2k b3 (ao
1))
AR P& 6.9118 6.8988 | 0.0130 0. 19%
WT IR (& T/48) 47.72 48. 40 -0. 68 —1. 4%
T4k Bk (EU/AR) 50. 92 51.35 -0. 43 —0. 8%
Lhud (CFREA) (£x/ 462 458 4.00 0. 9%
MX (CFR& & £ /wk) 670 686 -16. 00 -2. 3%
PX (CFRE &) (£ t/wh) 862 859 3.00 0. 3%
PTASN 3 (£ 7Lvk) 675 675 0. 00 0. 0%
PTAR & (Ju/w) 5,030 5, 005 25. 00 0. 5%
L MEG/M & (£ T/vd) 817 813 4.00 0. 5%
MEGA & (T/vk) 6,925 6, 860 65. 00 0. 9%
REstn A (/) 7,150 7,200 -50. 00 —0. 7%
saer (/) 8,025 8, 075 -50. 00 —0. 6%
A (Gu/4) 7, 600 7,625 -25.00 -0. 3%
POY (T/#k) 8, 050 8,125 -75. 00 -0. 9%
DTY (t/#»k) 9,800 9,950 -150.00 | -1.5%
FDY (5t/#k) 8225 8375 -150.00 | -1.8%
i) 110% 70% 0. 40 57.1%
8 1705445 (/") 5070 5096 —26. 00 -0. 5%
’ Aﬁr 170944 (5L/vk) 5228 5250 -22.00 -0. 4%
180144 (Gu/v») 5360 5382 -22.00 —0. 4%
T B BN £ (E /) 111.26 102. 26 9.00 8. 8%
PX- & fu i £ (& /vk) 400. 00 401. 00 -1 -0. 2%
PTAMu T %% 365. 68 365. 66 0. 02 0. 0%
POY A (Jn/») 206. 025 324.175 | -118.15 | —36.4%
DTYAE (Gu/#) 550. 00 625. 00 -75 -12. 0%
o /A1 FDY A (Gu/».) -18.975 174.175 | -193.15 | -110. 9%
= sE e Al (n/vh) 481. 025 574.175 | -93.15 | -16.2%
A AE (GL/#k) 106. 025 199.175 | -93.15 | -46.8%
#RA AlE (GT/h) 156. 025 224.175 | —68.15 | —30.4%
MM £ Gu/v) -198 -245 47 -19. 2%
170517011 £ (Gu/vd) 158 154 4 2. 6%
1709-1705 (5L/#k) 132 132 0 0. 0%
PTAL) FI X 74.55 76.57 -2.02 -2. 6%
FILE EBE L) FIE 86.2 86.2 0 0. 0%
ML FLE 79 79 0 0. 0%
A% GEM+FAIR) 258, 207 258, 207 0 0. 0%

1. EPE R ILTPPI X S]PX /= 46557 v/ F, A2014F5R 124, MO TR A TR
HIBgEd, <HTRHAREZH Y, EARPX= HrE S AH, 2. HEAXK G
s SJ#5F = 638 v a9PX K A L N 77, H=FF T XME £ A 245F

S | = 46807 b OPXE B R A8, LIRS EORIEIT. 3. AMEREALENLET S

6077 v/ FHIPTAR B T2 A28 B A3 £ 4514, T Rt XAEHB15K. 4. THESE
1207 vt/ 69PTARE B 31 X5 A 12 £ A1515 XL,




iiE

B PR 9 2 K T %k, PTAMRSE 3 AFm 45, FRAPXFM4s4s, PTAILY
A L8 BATAR R A360A 4 . ZakA: LHPTAR I KM /&, mA XIEH
5%, BATPTAT %4k 2 PIHATH &453], #EARABAANIAE, 2REKL
O AR B RER FAE0E, T LPTAT Sk % IR, #t4 A skiastss,
EHHEH £, BAPTAT B2 AFTH &455], HEALABAARNIAK
£ A2 AR X A5 B AR E AR EE T A= 0E, T LPTA T 3k ié A 4 1R, Fiit A
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